@ g %O bbn phan s6, s6 thap phan, thir tu cac phép toan co

dau ngodc
Tén: Ngay thang: Diém:
3 1 2 2
—x8+4—-4(=—4,7)= (Z—)=2x4+4. 1=
5 (3747 (73 :
I 3 1 3 2
10(=—=)+=2%x3+ == Zx25+5—-4(5.1- )=
G 7 2 5 (5 1-3)
52><9*3—4(1+1)— 10(2—56)*5><2+5—
’ ' 33 5 77
1 1
4(3+5,7)+2><2—§= (2,5—§)><3—2,3=

5,8x25+5+5(5,4+2,2) = 122+ Lysaxa-
302

N W

www.snowmath.com


https://www.snowmath.com

@ g %O bbn phan s6, s6 thap phan, thir tu cac phép toan co

dau ngodc

Tén: Ngay thang: Diém:
3 56 2 2 2 1
- X8+4— 4——47———18— (=—=)=2x4+4,1=(—

1 3 1 33 1 3 221
10(6_1)_2X3+§ :(_Z):(_gz) g ><25 5 4(5 1_—) (_—-)—(_14—-)

1 1 194 14 2 79 4
52%x9+3—4(z+ =)= — =12— 10(= —5,6)=5x2+5=(——)=(-15=
1 517 7 23 3
4B+5,7)+2%x2— - =" =34_ 2,5— = 2, =4=
B+5,7)+2x2- 3 =" =34 2,5 )><3 3= 5 =43
5,8%25+5+5(5,4+2,2) = 67 R+ Y axa-2=22 !
3 2 2 2 2

www.snowmath.com


https://www.snowmath.com

